
Name: Answer KeySolving Algebraic Expressions with Division Term

Math www.CommonCoreSheets.com 6 1-10 90 80 70 60 50 40 30 20 10 0

Answers

1. 8.25

2. -1.07

3. 3.42

4. 0.14

5. 0.94

6. -2.13

7. -5.94

8. 1.34

9. -3.63

10. 1.66

Solve each problem. Round your answer to 2 decimal places.

1) 2x+
1 ⁄ 2 - 7  =  10

4x+1-14 = 20
4x = 33

8.25

2) 5+
3 ⁄ 9 - 9x  =  15

45+3-81x = 135
-81x = 87

-1.07

3) 2 ⁄ 3 +8x-8  =  20

2+24x-24 = 60
24x = 82

3.42

4) 5 ⁄ 7 +8-5x  =  8

5+56-35x = 56
-35x = -5

0.14

5) 8x - 6+
1 ⁄ 2  =  2

16x-12+1 = 4
16x = 15

0.94

6) - 7x+
1 ⁄ 8 - 4  =  11

-56x+1-32 = 88
-56x = 119

-2.13

7) 1 ⁄ 9 +7-2x  =  19

1+63-18x = 171
-18x = 107

-5.94

8) 8x+
1 ⁄ 4 - 3  =  8

32x+1-12 = 32
32x = 43

1.34

9) - 4 - 5x+
6 ⁄ 7  =  15

-28-35x+6 = 105
-35x = 127

-3.63

10) 6+7x+
2 ⁄ 5  =  18

30+35x+2 = 90
35x = 58

1.66
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